Suggestions for Internal Assessment

B.Com Sem 1 ( Hons & Gen).

Principles of Management

{. Management is getting things done by oth-

ers in : 4. How many levels are there in manage:
(a) individual activity | ment?

(b) group activities | (@) Two (b) Three

(c) both of (a) and (b) (c) Four (d) Five.

(d) none of these. AR 57 T 2
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- _ 5.} Management is :

(a) Science (b) Art

(c) Science and Art(d) None of these.

2. Management is a :
(@) Invisible power

(b) Visible power
(c) Organisational power |

(d) Economic power.
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6. Objectives of management include :

3. Which of the following is not a function (a) Firm’'s objective(b) Personal objective
of management? (c) Social objective(d) All of these.
(@) Planning (b) Staffing |
(c) Co-operation (d) Control. | AR SO AT ST 2o
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7. The term ‘PODSCORPB’ is coined by :

8. The father of ‘Scientific Management’ is

10.

I
(@) Henri Fayol  (b) Luther Gullick |
(c) Harold Koontz (d) S.P. Robbins. \

‘PODSCORB’ 32067 el orarm—
(@) ERETT  (b) AR NG
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(@) Henry Fayol  (b) F.W.Taylor
(c) Luther Gullick (d) P.K. Drucker.
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F.W. Taylor was :

(@)an engineer (b) a manager
() an industrialist (d) an officer.

F.W. Taylor fete—
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The father of modern management is :
(@) Henri Fayol  (b) F.W. Taylor
(¢) Luther Gullick (d) P. Robinson.
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11. In scientific management study of organ

12.

13.

movements of worker is known as -

(@) motion study (b) time study
(c) work study (d) standardisation.

The writer of the book “General and In-
dustrial Management” is :

(@) Taylor (b) Fayol

(c) Drucker (d) Elton Mayo.
“General and Industrial Management” <33
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The first published book of Taylor is :
(@) A piece rate system

(b) Shop Management

(c) The Principles of Scientific Managemnet
(d) Principles of administration.
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(@) A piece rate system

(b) Shop Management

(c) The Principles of Scientific Management
(d) Principles of administration.



14. Features of planning are formulated ail ‘

by
(a) Laboratory

(b) The experience of management personnel
(c) The experience of the consumer

(d) None of these.
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15.The future plan created for main objec-
tive and attaining the goal of any busi-
ness organization is called-

(@) Standing plan

(b) Development plan
(c) Basnc plan

(d) Strateglc plan.
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16. Which one of the following is a single U

plan?

(@) strategy (b) budget

() a&b (d) method
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17.The success of planning depends on :
(@) correct forecasting

(b) past experience
(c) good organizational structure

(d) economic condition.
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18. Which type of work is planning in respect
of management ?

(a) Primary (b) Intermediate work
(c) Final work (d) None of these.
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19, pelegation of authority is the primary act

of -
(a) motivation

(c) organizing

(b) promotion
(d) directing.
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20. Which of the following is not an element
of delegation?

(a) Accountability (b) Promotion
(c) Responsibility (d) Authority.
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21. Which of the following does not follow
scalar chain?

(@) informal organisation

(b) divisional structure
(c) formal organisation

(d)functional structure
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22. Which of the following is not the element
of delegation?

(a) Accountability

(b) Authority
(c) Informal organization

(d)Responsibility.
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23. Due to decentralisation the responsibili-
ties and workload :

(a) Reduce (b) Increase
(c) Constant (d) All of these.
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24. Centralisation means :
(a) decrease in the authority of decision mak-
ing
(b)increase in the authority of decision mak-
ing
(c) delegation of work load
(d)none of these.
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25. Control is not a -
(@) Dynamic process

(b) Continuous process
(c) Complex process

(d)Pervasive process
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26. The last function of management is :
(a)Planning (b) Controlling
(c) Organizing (d) Directing.
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27. Control Function is —
(a) Forward looking

(b) Backward looking
(c) Both of (a) and (b)

(d)None of these.
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28. Budgetary control denotes controlling
through :

(a) Standard costing(b)Break-even analysis 1

(c) Budget (d) None of thege
TS WYL [FTF IO @R —

(@) WY (b) TR RTee
(c) JITHO (d) 9 (FAGR 7

29. ‘Control is one aspect of planning and it
projection’ — This comment made by :

(@) F. W. Taylor (b) Mary C. Niles

(c) G.R. Terry (d) J.D. Mooney.
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30. Which of the following is the feature of
control?

(@)Purposiveness (b) Dynamicsm
(c) Preventive system(d) All of these.
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